(DVMECA”

Mod® .
Grippers
MV - Series

™

S

28
iﬁ‘éia
ﬁ

z

o
!'
>

e
| Sm——

=




VACUUM GRIPPERS I MV - Series

(DVMeCA’

Magic Gripper (MV - series)

I Feature

» High vacuum flow rate - with up to 4 cartridges, Micro Premium
Cartridge (previous Magic Gripper can have max. 2 cartridges)

» Non-return check valve (integrated) function.
» Both Magic cup and Suction cup are available.
» Manifold type (with bracket) and Robot mounted flange available.

» Vertical design for securing space

» 45% reduced volume - against MC10 Magic Gripper

I Specification

Mao\®

Grippers 7 &

Description

Max. Vacuum level

Open Vacuum flow

Max. Feed pressure
Temperature

Noise level

Weight

Description

Max. Vacuum level

Open Vacuum flow

Max. Feed pressure
Temperature

Noise level

Weight

MV10-02
- 83 kPa
32 NI/min
7 bar
-20~80°C
50 ~ 60 dBA
40.1g

MV15-02
- 85 kPa
34 NI/min
7 bar
-20~80°C
65 ~ 68 dBA
3999

MV10-03
- 83 kPa
48 NI/min
7 bar
-20~80°C
50 ~ 60 dBA
405¢g

MV15-03
- 85 kPa
51 Nl/min
7 bar
-20~80°C
65 ~ 68 dBA
40.2 g

MV10-04
- 83 kPa
64 NI/min
7 bar
-20~80°C
50 ~ 60 dBA
409g

MV15-04
- 85 kPa
68 NI/min
7 bar
-20~80°C
65 ~ 68 dBA
40.5¢9



VACUUM GRIPPERS / MV - Series SVMeCA’

I Vacuum Flow

Max. Feed Air Vacuum flow (NI/min) at different vacuum levels (-kPa)
Model Vacuum Pressure ngzﬂm

(-kPa) (bar)  (nminy O | 10 20 30 40 50 60 70 80 90

50.0 1.1 11.8 23 126 44 32 14 - - - - -

83.0 1.8 164 284188 66 44 4 28 16 08 04 -

MV10

-02
83.0 2.2 20 32 238 102 46 28 26 18 06 02 -
79.8 3 26 18 156 124 84 56 | 4 24 06 - -
Max. Feed Air Vacuum flow (NI/min) at different vacuum levels (-kPa)

c
Model Vacuum Pressure ggf)‘;m

(-kPa) (bar) | (nvmin) 0 O 10 20 30 40 50 60 70 80 90

50.0 1.1 177 345 189 6.6 48 21 - = - - =

83.0 1.8 246 426 282 99 66 6 42 24 12 06 -

MV10

-03
83.0 2.2 30 48 357153 69 42 39 27 09 03 -
79.8 3 39 27 234 186 126 84 6 36 09 - -
Max. Feed Air Vacuum flow (NI/min) at different vacuum levels (-kPa)

Model Vacuum Pressure Cg{‘iilr‘]m
(-kPa)  (bar)  wminp O 10 20 30 40 50 60 70 80 90

50.0 1.1 23.6 46 252 88 64 28 - - - - -

vvio 830 1.8 328 568376132 88 8 56 32 16 08 -

- 04
83.0 2.2 40 64 476 204 92 56 52 36 12 04 -

79.8 3 52 36 312 248 168 112 8 48 12 - -




VACUUM GRIPPERS I MV - Series

QVMeCA

I Vacuum Flow

Max. Feed Air Vacuum flow (NI/min) at different vacuum levels (-kPa)
Model Vacuum Pressure “pion"

(-kPa) = (bar) | (wmin) O 10 20 30 40 50 60 70 80 90

66.5 3 26 292 212 15 124 98 58 2 - - -
VWS> 873 4 322 326 262 17 148 126 104 82 5 12 -

85.8 5 372 338 28 212 136 116 98 76 48 08 -

Max. Feed Air Vacuum flow (NI/min) at different vacuum levels (-kPa)
Model Vacuum Pressure. “ogon”

(-kPa) = (bar)  (wmin) O 10 20 30 40 50 60 70 80 90

66.5 3 39 438 31.8 225 186 147 87 3 - - -
VWO 873 4 483 489 393 255 222 189 156 123 75 18 -

85.8 5 558 | 50.7 42 31.8 204 174 147 114 72 12 -

Max. Feed Air Vacuum flow (NI/min) at different vacuum levels (-kPa)
Model Vacuum Pressure  “pgon”

(-kPa) (bar) | (N/min) O 10 20 30 40 50 60 70 80 90

66.5 3 52 584 424 30 248 196 116 4 - - -
VWO 873 4 644 652 524 34 296 252 208 164 10 24 -

85.8 5 744 676 56 424 272 232 196 152 96 16 -




VACUUM GRIPPERS I MV - Series

DVMeCA

I Dimensions — Basic Pump

[
@
00
00
[
18
28

31
Release air port
26 Hose (1D 24) Vacuum port
Compressed air port M4*P0.7
@6 Hose (ID @4) @4 Hose (ID @3)
‘ f o~
L ! | - —
H
' |
7 I N - ‘ N ~
(<g) ‘ D ~
{ =
g‘ < e~ ~— ] 1~
38 P | — o
LL3 T
| | 3
o~
il I
T 1
% ] ool
":‘;

\
| 719.8 ’

MV(15)-(02)-N1B20F

2-M4X0.7 DP6

|
L
@ —
_9SONE - wf «
o o — ~
& 1
=
|
Release air port 31
@6 Hose (ID @4) Vacuum port
Compressed air port M4*P0.7
@6 Hose (ID @4) @4 Hose (ID @3) | |
: A= i
\ ) |
‘ | n 2-M4X0.7 DP6
4 ‘ N — | S r~ = N
0 ’ o o O
s‘ < | ]
g 5 e i
SL & ! H | & O
il hk #
| H o
11 1 T 1 I ! I rl[ - 3
| - [ ]
c : y S
BTSSR 7 e
I |
28 034.2 18

MV(15)-(02)-N1B40F
[ TB1.5-40 ]




VACUUM GRIPPERS I MV - Series

(DVMeCA”

I Dimensions — Basic Pump

Release air port
@6 Hose (ID @4)

Compressed air port
@6 Hose (ID @4)

@4 Hose (ID @3)
i J;

Vacuum port
M4*P0.7

11
. ‘

(g | = \——rg e E
ki =
il | g . =1,
W | 7 s P | =

29.9

20.8

MV(15)-(02)-N2B20F

oG

2-M4X0.7 DP6

[ TB2.5-20 ]
® —
MO ONEN . o «
o ° -~ o~
% 1
[
Release air port |
@6 Hose (ID @4) Vacuum port 31
Compressed air port M4*P0.7
@6 Hose (ID @4) @4 I:iose (ID @3) | [
VA o= goy:
[ 1] ] I [T
I | I ] | L " ] | I 2-M4X0.7 DP6
) - \ - ~ = -
| = W
dl <
3 ~ — — T - —
& = | = @d) \
Line N nili
IIII Illli [ 1 1 \’ 11 H,I 0
i 1 J 1 3
T ~
T R .
BEEE=SK PSS
I I I
28 ‘ @34.2 ’ 18
MV(15)-(02)-N2B40F

[ TB2.5-40 ]



VACUUM GRIPPERS / MV - Series SVMECA’

I Dimensions — Basic Pump

|
Q0
00
] : 0
18 |
28 .

Release air port
@6 Hose (ID @4))

Vacuum port
M4*P0.7
@4 Hose (ID @3)

. g

Compressed air port
@6 Hose (ID @4)

12

2-M4X0.7 DP6

29.9

—1 [ N
— 1=
41.4

11.5

\
Vacuum ort_/
28 Gl/4“—p 023 18

MV (15)-(02)-14F
[ PF1/4” Female ]

I
Q0
00
I
|18

28

Release air port 31
@6 Hose (ID @4)

Vacuum port
Compressed air port M4*p0.7

@6 Hose (ID @4) | 7@ | -
‘ FE% - r%
q i -1 - ‘ L H
[

2-M4X0.7 DP6

1*,*

o
q i I
il | v 2 1. I
§i§ 5 3 T~ I g 7] ‘ B
'!r ! T o | d? !
| 2 \%} “
il | i =
I R 11 1 -
y o i
L] R L]
I | |
28 Vacuum port 18
G3/8" @23

MV(15)-(02)-38F
[ PF3/8” Female ]



VACUUM GRIPPERS / MV - Series QSVMecCA

I Applications




VACUUM GRIPPERS I MV - Series

DVMeCA

I Build an Ordering No. (Magic cup type)

)

MV15 B 02 RINJ 1B20 o P32S3D N
@) @ 6 ® ® @
@ Base pump @ Top bellows
Symbol | Description Symbol Description
MV10 ‘ Micro cartridge 2-stage (VC102) 1B20* Top bellows 1 fold, 20mm

MV15 ‘ Micro premium cartridge 2-stage (VC152) 1B40* Top bellows 1 fold, 40mm
2B20* Top bellows 2 folds, 20mm
@ Body type 2B40* Top bellows 2 folds, 40mm
L *Top bellows 60mm option is not available for MV-series.
Symbol Description
02 Vacuum cartridge x 2EA ® Vacuum filter
03 Vacuum cartridge x 3EA Symbol Description
04 Vacuum cartridge x 4EA F Disk filter (200 mesh)
® Suction lip
Sealin
® < Symbol Description
Symbol Description .
Refer to Magic cup catalog
N NBR
E EPDM @ Non-return valve
v Ve Symbol Description
Blank No non-return valve
N Non-return valve




VACUUM GRIPPERS / MV - Series QSVMecCA

I Build an Ordering No. (Fitting type)

— 02 - ol 14F BN N
@ @ & ® 06
@ Base pump @ Vacuum port
Symbol | Description Symbol Description
MV10 Micro cartridge 2-stage (VC102) 14F Vacuum port 1/4” female
MV15 | Micro premium cartridge 2-stage (VC152) 38F Vacuum port 3/8” female

® Non-return valve

@ Body type
Symbol Description
Symbol Description
Blank No non-return valve
02 Vacuum cartridge x 2EA
N Non-return valve
03 Vacuum cartridge x 3EA
04 Vacuum cartridge x 4EA
® Sealing
Symbol Description
N NBR
E EPDM
\Y Viton




